bl Juald ale o Lalie ) 4 lalil) el - AUl Ada pal) - ciludaly 1) and - ciliall Ay 3 A0S -y S5 Aaaly

gl 1) — il A 20 A g 5 el

dalic ) Aldalinl) ey aleal) — Ailil) Al yall
Jalsill 38l jha — sagalll Juadl

hal Jald e o
amer6767@tu.edu.iq
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Sixth Method Al 43y jlall

Integration by Partial Fractions s 4 jady Jalsil) 48y

23aia Tl g A8l (e IS S 13 ¢ (o ns) el J1 sl JalSS 8 6 plal o3 a0
ity (lad Ao et AN 038 8 Ay 5 U A1) ALl A 53 g JB) ol Bn 3 S 5 2 50
ay g (Al 1 oY) A Hall e lS el pi) A Y1 alal se ) aliall Jalas 4lSa) ) A5y ykll o2a
leie O 3ac llia alaal) Julas

Al Jidat oy A A0s T i1y At et Jal e ) Qi alial) (113 2 191 AL

9(x)
B g(x) = (x—-2,)(x—a,)...(x—a,) B8l e LhaW ALY Lelal s )
f_ A A A
g(x) x-a x-a,  x-a,
Example (24): Evaluate 1= de ..................................... (*)
X®+3X+2
Jadl @i ghad
X +3X+2=(x+2)(x+1) =0 Adall Jls @

SV A g8 Al g Aydad Jal gall () Lay
Al Jolas e slaie Yl suSsae J alidl 5500 @

XD A B (*1)

X2 +3X+2 X+2 x+1

¥ Cashll Gldie a6 @
X213x+2 x+2 x+1 (X+2)(x+1) (Xx+2)(x+1)

_ (A+B)x+A+2B
T (x+2)(x+1)

20x +16 A N B A(x+1)+B(x+2) Ax+A+Bx+2B

) s ) Gkl X s Ol G s sl @
A B =20 e e (*2)
A4 2B =16 et e (*3)
Bs A af da¥(*3)5(*2)d~i o

FAFB=F20|B=—4
A+2B=16 | A=24
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FHE (L) B A pd pasioe
20x+16 A B 24 4
= o S (*4)

+3x+2 X+2 X+l xX+2 x+1

dx:j(ﬁ—i)dx _24In(X+2)—4In(X+1)+¢
X+2 Xx+1

J~ 20x+16
X2 +3X+2

il il g A Ay T00 g 13y 1 5 0 Ak Jal g Y ey aliall s 03y ; Aty Ala)

9(x)
G4 g(x) = (x—a)(x—a)...(x—a) = (x—a)" __Sall Lladll A0 ¥l Lelal s
fO_ A A A
g(x) x—a (x-—-a)*> = (x—a)"

Example (25): Evaluate | = S S, ¥ SRR (o)

X% +2x+1

X2 +2x+1=(X+D(x+1) = (x+1)*
L0 AT e 5 5 s T el el ) Las

X A B
> = + T 2y S (*1)
X“+2x+1 x+1 (x+1)
X _Ax+D)+B  Ax+A+B
x*+2x+1 (x+1)? (x+1)(x+1)°
A= (*2)
A B =0 e (*3)

B ¥ (*3) 5 (*2)

Fid (*1) A B 5 A aff pag
X A B 1 -1
= + = +
X2 +2x+1 x+1 (x+1)?* x+1 (x+1)°?

-1
=[5 ! L yax=tnx+1)- XD ¢
X“+2x+1 X+1 (x+1) -1

:In(x+1)+i+c
X+1
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CulS 13 5 g% i e ad g S0 Lgda and 3dad Jul g ) Jlay allal) oS 1) ¢ 4G Al

e L oy S Lgie o et Bl g ) aLaal A Jda g A i A1 ;83

A4 g(x) = (x—a)(x=b)"

f (%) A B, B, B,
= + + +.o—"
g(x) x—a x—b (x—b)? (x—b)"
Example (26): Evaluate |=j33X2—+5dx .................................. (*)
X7 —=x"=x+1

X—x? = x+1=xX*(x-D—(x-D = (x-D(x* =1) = (x=D(x=D(x+1) = (x=1)*(x +1)
N Vsl ed ) S e LAls 5, S dihad Jalse ) s dliall of Ly
3Xx+5 A B C

= + o *1
X’ —x?—x+1 x+1 x-1 (x-1)° 1)
CAX-DZ+B(x-1)(x+1)+ C(x +1)
(x+1)(x—1)*
_ AX® —2Ax+A+Bx? -B+Cx+C
(x+1)(x-1)°
_(A+B)X’ +(-2A+C)x+A-B+C
(x+1)(x =13
At B =0 e (*2)
A C =3 e e (*3)
A B C =5 e (*4)

CsBys A ?‘é AIA_N (*4)3(*3)}(*2)@

A+B=0 B=-A B=-A B=-1/2
-2A+C =3} -2A+C =3} -2A+4=3; A=1/2
A-B+C=5| 2A+C=5 C=4 C=4

i (*1) A C 3B s A al s
3X+5 A N B c 12 -1/2 4

= + = e *4
X} —x?—x+1 x+1 x-1 (x-1D)* x+1 x-1 (x=1)°? (*4)
Jalsill e (5
|=J. : 3X2+5 dX=I 1/2+_1/2+ 4 )dx
X7 —x"=x+1 x+1 x-1 (x-1)
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:—'”(X+1)—%|“(X ~D)+4f(x-1) Pdx == In(x+1)——|n(x 1)+4(X_1) e

1 1 4
==In(x+1)—-=In(x-1)———+c
5 IN(x+1) = In(x 1) 1

A3 fEX; il 13 Al Aa ) e o AT Audad Jalge ) ady alial) @S 13 dagl ) Allad)
X

AN $a ol e oAl dlse s Ahs Jale () aliall Ay Joalas a5y Ay s
Ol g(x) = (x—a)(bx? +cx +d)

f(x) A Bx +C
g(x) x—a bx?+cx+d

s Aa ol e adany

X°—5x+4
(X+2)(x* +5)

Example (27): Evaluate 1= c(%)

el 2y yTall (yo Al 1 NS g Al A 5l (e 5 _A Ty Audad Jalse ) Jla ALl

x*-5x+4 A  Bx+C

(x+2)(x2+5)_x+2+ TLE e (*1)

_ A(X* +5) + (Bx+C)(x+2)

(x+2)(x* +5)
_ Ax® +5A+Bx® +2Bx+Cx+2C _ (A+B)x® +(2B+C)x+5A+2C
(X +2)(x* +5) (X +2)(x* +5)
A+ B =L (*2)
2B A C = o i (*3)
BA+2C =4 (*4)
C B s A a8 3 (*4) 5(*3) 5(*2) I~
A+B=1 B=1-A B=1-A B=1-A B=-1

2B+C=-5; 21-A)+C=-5; -2A+C=-7; —4A+2C=-14; A=2
5SA+2C =4 S5A+2C =4 5A+2C =4 SA+2C =4 C=-3

S8 (F1) 3 C 5B 5 A af Gass

X2 -5x+4 A Bx+C_ 2 -x-3_ 2 x 3
(X+2)(x*+5) x+2 x*+5 x+2 x*+5 Xx+2 x*+5 x*+5

(*4)
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J' —5x+4 _J-( X 3
(X+2)(x* +5) X+2 Xx*+5 x*+45

)dx

= 2In(x+2)——|n(x +5)——tan’l(

v5 VB

RELR f?? oS 1Y) 3 8% AN An Ll cha Jal e ) Ol alall (LS 1) ¢ A calsl) AL
g(Xx

)+cC

OB g(x) = (ax® +bx+¢)"5__Se 4l da Hall (e Jal ge ) alaall Al Judas a3

f(x) AX + B Cx+D Ex+ F
= 2 + 2 7 ..ot 2 n
g(x) ax“+bx+c (ax®+bx+c) (ax® +bx+c)
Example (28): Evaluate I_J'in;ld .................................... (*)
(x° +

Feaal ) Ay STl (e Acaal ) NS g 55 S ) Ain 3 e Gl s ) Jlas Sl

X2 +2x+1 Ax+B  Cx+D
(x> +1)?>  x*+1 (x*+1)°

A=0,B=1C=2,D=0
i (*l) A D sC 5B s A al Gas

x*+2x+1 Ax+B Cx+D 1 2X

— i - + = +(x? +1)7%(2x
(X*+D* x*+1 (X*+D?* x*+1 (X*+D* x*+1 ( ) (29

FOO _T0)_A B 1S () ad g1y : daga Alsadts
g(x) X X

n X X2

Abil) Jal gll Heaviside A&k
¢ oSl A3a3 AA B, C, ... <Okbad) dlay) Wi€ey (1925-1850) wlossian jid ol 43y Hla dauil 50
A g(x) = (X—R)(X—1,)..(x—1,) 5 g(X) 23,3 0 Ji (%) 2saal) LS s o ()5S Larie

D 5mSl Gl e g sl Ay i sl lin ¢ 1 5l ) 55 Leia S el el sall 1 e

Example (29): Find A, B,and C

x> +1 A N B N C
x-D(x-2)(x—-3) x-1 x-2 x-3

sl deani (X—1) 3 () Aaladll 4l Uy pia 13 s

x* +1 _As B(x-1) . C(x-1)
(x=2)(x-3) X—2 X—3

A o Al Alslaall e o x = 1 el
26
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0% +1

T2 _A+040 = A=1
(1-2)1-3)

oSl alie L (x-1) daladl (Cover) Luke 13 4dde Juanin US 3 &80 oo A dad i ¢ il
ha¥!

x* +1 )
(X _1)(X _ 2)(X _ 3) ..............................

X:lm&u\jﬁd\wg,\m}

(1) +1 2

= = 1.
=10 =20 =3 (=1=2)

': :\.l-‘u.-\.'l.
Aol cwnd g (¥1) (A (X-2) Jaladl (cover) ahad YA e () alaall 4 B 4ad 2a3 ¢ Jiall
X =2 vie L ikl

2)F + 1
g — (2)° + 5 _ .
2-D|lux-2@2=-3 D=l
Cowe
X =3 e il Aad canis (1) B (X-3) S P4 0 C A2«
30 + 1

(3—-13—=2) (x —3) (2)(1)

Heaviside 4ak

S DY Lelel e L) g(x) il g anidll Jala i) (1)

f09 _ (9 A A A
009 (X—R)(X—1)..(x-r)  (-n) (x-r) T (x-r,)

Jaa (x=r) m‘;jt_.d\ Dhaiall dad i g g(x) Jelse (e (x-r) JALA\‘;E;_} ?2)

Aj A g

_ f(r)
A= (r-r)...(r-r,)
A f(r,)

B (rz _rl)"'(rZ _rn)
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X+4
X
+3x% —10x

Example (30): Evaluate ( Heaviside Method ) jx3

JEIL 5 el Jilat g g(x) = 3 +3x2 —10x plall An jo (e ) f(X) = x+4 Lol A ja o dad)

Sl
xed _ xed A A A
x3+3x2-10x X(X—2)(Xx+5) X X—-2 X+5
rn=0, rn=2, rn=->5
A= f(r,) _f(0  _0+4 4 -2
(r-r)...(rn-r,) (0-2)0+5 (-2)(5) -10 5
A, = f(r,) _ f(2) _ 2+4 :£:§
(r,-r)...(r,-r,) 2(2+5) 2(2+5) 14 7
A - f(r,) _ f(-5) _-5+4 -1
(r,—r)...(r;—-r,) -5(-5-2) -5(-7) 35
Sl
X+4 B X+4 —_2/5+ 3/7 +—1/35
X3 +3x2 —10x  X(x=2)(x+5) X  (x=2) (x+5)
S
X+4 -2 3 1
fm—?Inx+7ln(x—2)—£ln(x+5)

B lalaall maadl o A1 36k
) ) 3 LS ¢ BRIV 4l o8 A8 5l pml) 8 e ) 1 a5 5 A8y 5l
Example (31): Find A /B, C
x—1 A B C

AL B S (*)

xF1)° x4l (x+1) | (x+1)°

X = -1 2 el g damill §latd) ¢ Sl Al 30
o 5&I A 3L Y s 2 dad)
x-1=A(x+1)?+B(x+D)+C (*1)
C=-2 058 (*1) & x=-1 Lo
Sle danid x dually (*1) Aaleall bk (51

1=2Ax+H)+B (*2)
28
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B=10s$ (*2) & x=-1 yasm

Slo danid x ) dpadlly (*2) Aaledl 8 ke (335
x-1 1 2
(x+1)°®  (x+1)?* (x+1)°
A S Valadl Je Jpasll x=0, 1, £2  Jie e Xdb e ol Gt g (Jilall (any
AV Gkl iy e Sy C 5B 5

Example (32): Find A B, C

x? +1 A N B .\ C 2
(X—l)(X—Z)(X—B)_X—]_ w_2 T3g e

XJ42e af janadd
i (X—D)(X—2)(X—3) = (¥) s ldy 5 pul AL Y5l 0 65 1 J)
X*+1= AX-2)(x=3) +B(Xx-D)(X—=3) +C(X-D(X—=2) = iiirirer.... (*1)
A ) oa s (*1) A8 S
x=1 = A=1
Xx=2 = B=-5

x> +1 1 -5 5

x-D(x=-2)(x-3) x-1 x—-2 x-3

Exercise (4-1): By partial fractions evaluate the integralS exe. 2-12) page 395 biue book

No. | Question Answer
1| dx 1 =Linx=2)=Linx+2)+c
¥ _4 4 4
=~ Ltanh ) =—Ltanh ) ¢
a a 2 2
- dx 1, ., 1 _1[2x+1j
2 - - I =Inx—=In(x" +x+1)——=tanh +C
I (X% +x+1) 2 V3 V3
3 dx I =In(x+2)—In(x+3)+cC
) x> +5x+6
- sin xdx 2. 2.
4 | == tanh™(2cos x —1)+ = tanh™*(cos x + 1)+ ¢
J c0s% X +C0OS X — 2 3 3

I =gtanh‘l(zcosx +£j+c
3 3 3

I :%In(cosx+2)—%ln(cosx—1)+c
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5 Ixz —Xg—i—4 | :%In(x+l)+gln(x—4)+c
6 I o | zltan’lx—l-ltan*1(5)+c
(X2 +1)(x* +4) 3 3 2 2
5x-3 I =2In(x+1)+3In(x—3)+c
[N Sl
X" —-2x-3
8 '4X2+3X+2dx | =In(x) -2 +3In(x+1)+ ¢
X + X2 X
9 xax 1= Lin(x=1)+ 2 In(x+5) +¢
S X* +4x-5 6 6
10 'ﬂdx 1= L0 = In(x=1) + S In(x + 2) + ¢
I X%+ x2 - 2x 2 2
11 X+1 I =In(x+1)+c
I x*+2x+1
12 X’ | =2Inx—2In(x? +1) + +c
Y X(x? +1)° dx B x? +1
2 1
13 X—dx | =x—In(x*+2x+1)———+c¢
X% +2x+1 X+1
14 + X |=_—2—3tan’lx+ ~+C
Y X(x* +1)? X 1+ x
3 3 2
15 | (X +1dx 1= X Xt 2in(x-1)+c
J X—l 3 2
16 e*dx I =Inl+e™)—In(l+2e ) +c
J e 43 +2 | =In(e* +1)—In(e* +2) +¢
17 dx 1= Linx=1)—In(x=2) + LIn(x-2) + ¢
" (x=D(x-2)(x—-3) e 2
18 X—4dx | =x—3tan™ x+ ~+C
I (x? +1)? R
19 L I:Inx—ln(x+1)+L
I x(x? +1)? x+1
N —x? 20 23
20 | [ X | =~ _3x+6In(l— _
| (1_X)3dx 5 X+6In( x)+1_x 2(1—x)2+c
dx 1 1 5 1.
_— I ==In(x+1)—=In(x"+1)+=tan~ x+cC
21 J‘(x+1)(x2+1) 2 bt 4 { ) 2
3 2
22 (X" + X" ~5x +15)dx I :—\/gtan‘l[l}lln X +2x+3 +5itan‘1[x—+1J
I(x2+5)(x2+2x+3) J5) 2 ( ) J2 V2
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3 3 1
23 X dx | =—x—3Inl—x - —+ —+C
I(l—x)3 1-x  —2(1—x)
il
24 j% Iz)i——ltan’lx+ _27—/42 X
x*(x* +1) 1 4 (X* +1)

Exercise (4-2): By partial fractions evaluate the integrals exe. (36) page-305 - al-samarrai

No. | Question Answer
1 Ixzdig I:%In(x—B)—%ln(x+3)+c
dx 1 1
2 - I ==In(x+1)—=In(x+6)+cC
sz +7x+6 > 5
3 2 2
3| [ gy, 1= X 3 In@2x D)+ In(x+1) +¢
2x°+3x+1 2 2
4 (x+2)dx | = 3In@x+1) - In(x+1) +¢
Y (2x+1)(x+1) 2
5 | [ 9 1= Lin=1) - Lin(x+5)+¢
I x*+6x+5 6 6
6 [ xdx | = In(x+1)+—— +¢
I (X% +1)? x+1
7 x“dx I :In(x+1)+4i+c
J(x+1)(x+2)? X+2
3 (3x+5)dx | = 2In(x+1) + 2In(x—1) - —F— 4+ ¢
I —x2—x+1 x-1
9 J'(X3+X2+X+2)dx I :tan‘lx+lln(x2+2)+c
x* +3x% +2 2
10 | [ | = InX—In(X-+1)+——
I X(X* +2x+1) il
11  (6x° —x+13)dx | =4In(x+1)+In(x> +4)—§tan‘1(§)+c
(x+1) (X2 +1) 2 2
e dx 1, X
_ G ==t _X
12 |y > an X+2(1+X2)+C
4 1
13 'de | =2x—4tan™x-5
2 2 211
Y (x°+1) X+
14 (22X + X" +4 I=In‘x2+4‘+1tan‘1x+ ——+¢
(X2+4)2 2 X +4
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15 )37 | = 2\/Etan (x )/f ﬁtanh (x+ )/f +cC
16 || >:dx1 I:%tan‘l(x2)+c

I x4+

- x2dx _1 —1[ 1 } 1 —1[ 1 }
17 Jorrs I 2\/Etan (x x)/ﬁ +2ﬁtanh (x+X)/\/§ +C
18 | | X*dx I=x+i£ In*=1 tanlxj+c

J X4+1 2\ 2 X+1

Exercise (4-3):

Exe. (8.4) page 461 calculus-12

No. | Question

| Answer

Expanding Quotients into Partial Fractions
Expand the quotients in Exercises 1-8 by partial fractions.

1 5x-13 2 3
(x=3)(x—2) -3 x-2
g | 9= _ 8 2
X? —3X+2 X—2 1
3 X+4 1 3
(x+1)? X+1 (x+1)2
4 2X+2 2 4
e — +
x> —2x+1 x-1 (x-1)°
5 z+1 -2 -1 2
2 =g
z2°(z-1) z z¢ z-1
6 A 1/5 -1/5
58 = _ "
7°—1°—612 z2-3 7+2
2 —
7 t°+8 gy 1 12
t> —5t+6 -3 t-2
4 —
t* +9ot? t° t*+9

Nonrepeated Linear Factors

the integrals.

In Exercises 9-16, express the integrand as a sum of partial fractions and evaluate

9 2 | = [ine x — - xJ+c
1-x? 2

10 b I :l[ln|x|—ln|x+2|]+c
X2 +2X 2

11 'L‘ldx 2In|x+6| In|x I+c
X°+5X-6
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12 J-22X+1 dx | =9In|x—4—7In|x-3+c
X°—=7x+12
13 T ydy ;InS %I 3—'"215
2 Y —2y-3
14 I(y+4)dy I_In%—lnB |§=|(§%-%_|( il
2 Y Y
dt
15 - - :—Int Int+2+ Int—2 +c¢
[ i+ T2+ S
16 J.2xx34+—38xdx I=%3In|x|+Eln|x+2|++Eln|x—2|+c

Repeated Linear Factors
In Exercises 17-20, express the integrand as a sum of partial fractions and
evaluate the integrals.

1 3
17 in | =3In2-2
o XT+2x+1
0 3
18 | [_ XX | =2-3In2
XS =2x+1
(Ol IR
I (x*-1)? x—1| 2(x* —1)
2
20 | x“dXx I :—In|x—]4+—ln|x+]j+
I (x=D)(x? +2x+1) 4 4 2(x+1)

Irreducible Quadratic Factors
In Exercises 21-32, express the integrand as a sum of partial fractions and
evaluate the integrals.

21 j‘ dx |:7Z'+§|n2

- (X+1)(x* +1)

NEP) 9 =«

gt +t+4 | =In— + =

22 J‘ I dt n\/§+12

1

Y +2y+1 | =tanty—
ST "
24 £8X* +8x+2 X | =tan™2x———+c
o5 | 25+2 | =—(s-D?+(s—-1) " +tan's+c

I (s +1)(s-1)°
26 | | s* +81 ds | =Ins|+ i,

J S(SZ+9)2 S™+

33



Jal Juald jale 3

dalie ) dlaldtl) ey aeal) - &_\m A ) - cilpdaly ) and - clidl Ay ) A0Sy S5 daaly

2 2x+1
X" —X+2 Inx +—Inx +x+1—+/3tan™
e g Bl
28 41 dx I:In\x\—lln\x+ﬂ—%ln‘x2—x+ﬂ+c
X" + X
. 2
29 X dx I L R
.X4_1 4 X+1
30 | X* + X i :EIn|x 2|——In|x+2| In‘x +ﬂ+ tan x+c
4 2
X" -3x"-4
260° +50° +80 + 4 -1 2 il
l=— = +In(0? +20+2)—tan (6 +1
L] (0 +20+2) 012012 O F20+2)~tan (O +)+e
4 B 2
32 | [¢ ‘49(;2 i‘gl)a‘?’@*lde | = tan'(0) + 2(0% + 1) —%(92 1) 2+c

Improper Fractions

In Exercises 33-38, perform long division on the integrand, write the proper
fraction as a sum. of partial fractions, and then evaluate the integral.

Vo e
4x° —4x+1
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Evaluating Integrals

Evaluate the integrals in Exercises 39-50.
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